Rustler VXL (Model 37076) Parts List

Parts shown in bold are optional accessories. Part categories and individual part listings are arranged alphabetically. Prices are shown in US Dollars.

Bearings & Bushings 5186A

5186

4607
2728
5116
5114
2545
3934
1675
1985

1926
1726
1834
1914R

3614
1815
3714

3715

3615

3617R

2514
3713R
5185
4974
3677A
3677
3677X
3678

3678X

3678A

4976
5186A

5186

3725X

3727

3727A
3628

2735
3722
3722A
3725

3629
5185
3723
3723A
4974
3677A
3677
3677X
3678

3678X

3678A

4976

Ball bearings (5x11x4mm) (8)
Ball bearings (5X8X2.5MM) (2).....cvivviiiiiiiiiiiiiiie s
Ball bearings, blue rubber sealed (5x11x4mm) (2) ... .
Ball bearings, blue rubber sealed (5x8x2.5mm) (2)

Bellcrank bushings (plastic) (5x8x2.5mm) (4)...........
Body clips, heavy duty (12) ........ccccccvervnennens $3.00
Bushings, self-lubricating (5x11x4mm) (14)... $5.00

PTFE-coated washers, 5x8x0.5mm (20) (use with ball bearin

Body & Accessories
Antenna caps, vinyl (2)/ antenna spool ...
Antenna, tube (1)/ vinyl antenna cap (1)/ wire retainer (1) .
Body clips (12) (standard Siz€) .........ceeerveeerieiiiiiieeiiee e
Body mount, front & rear (black)/ body posts, 52mm (2),

38mm (2), 25mm (2), 6.5mm (2)/ body post extensions (2)/

Rardware ...........ccooiiiiiiiiii $6.00
Body mounts (front & rear)........ccocceeeviieeiieeenieeeieeeee e $5.00
BOdy WAShEIS (8) .....couviiiiiiiiiiiiiiiie s $2.00
Body, Rustler (clear, requires painting)/window, lights decal

sheet/ wing and aluminum hardware............cccccvevvieiiieiiciicniens $25.00
Body, Rustler VXL, ProGraphix (replacement for the painted

body. Graphics are printed, requires paint & final color
application)/window, lights decal sheet/ wing and aluminum
RArdWare ........ccoviiiii $34.99
Body, Stampede VXL, ProGraphix (replacement for the

painted body. Graphics are printed, requires paint & final

color application)/ window, grill, lights decal sheet................... $34.99
Body, Stampede VXL, ProGraphix (replacement for the

painted body. Graphics are printed, requires paint & final

color application)/ window, grill, lights decal sheet .................. $34.99
Decal sheet, racing SPONSOIS.....ccccuiiiiiieriiiieiiie et $3.00
Decal sheets, Rustler VXL .........ccocoviiiiiiiiiiiiiiicis $11.00
Tires, rubber (2) (fits Traxxas wheelie bar wheels)..... $7.00
Wheelie bar arm (1)/ connector (1)/ 3x12 SS (hex drive) (4) $10.00
Wheelie bar mount (1) / hardware (green) ..........ccccceueee.. $4.00
Wheelie bar mount (1)/ hardware (black) ... $4.00
Wheelie bar mount (1)/ hardware (blu€) ........cccocveiiiiiiiiiiiie $4.00
Wheelie bar, assembled (black) (fits Slash, Stampede,

Rustler, Bandit SEMES) .......ccciiuiiiiiiiiie e $15.00
Wheelie bar, assembled (blue) (fits Slash, Stampede, Rustler,

BaNdit SEIHES) .oouveuieiirieiieii ittt eneen $15.00

Wheelie bar, assembled (green) (fits Stampede, Rustler,
BaNdit SEMES) ..cvieiiiiiiiieiiee e

Wheels (4)/ Axles (2), for Maxx wheelie bar...........c.ccccccoeivnnnne

Wheels, aluminum (blue-anodized) (2)/ 5x8mm ball

bearings (4)/ axles (2)/ rubber tires (2)......cccoeoiiiiiiiniiiiiies $19.95

Wheels, aluminum (red-anodized) (2)/ 5x8mm ball

bearings (4)/ axles (2)/ rubber tires (2).........ccccccoeovioiiiiiiins $19.95
Chassis & Attachments

Battery expansion kit (allows for installation of taller multi-

Cell DAtery PACKS) . c.viieieiiie ettt $6.00

Battery hold-down plate (black)/ metal posts (2)/body

CHPS (2) tveiee ittt $3.00

Battery hold-down plate (grey) / metal posts (2) / body clips (2)..... $3.00

Box, receiver (sealed)/ foam pad/2.5x8mm CS (4)/ 3x10mm
CS (2)
Bumper (front).........

Lower chassis (black)..
Lower chassis (grey)
Mounting plate, speed control (VXL-3s) (Bandit, Rustler,

STAMPEAR) .. $3.00
Seal kit, receiver box (includes o-ring, seals, and silicone grease).  $4.00
Tires, rubber (2) (fits Traxxas wheelie bar wheels). $7.00
Upper chassis (black) $5.00

Upper chassis (grey)
Wheelie bar arm (1)/ connector (1)/ 3x12 SS (hex drlve) 4)......
Wheelie bar mount (1) / hardware (green) .
Wheelie bar mount (1)/ hardware (black)
Wheelie bar mount (1)/ hardware (blue)
Wheelie bar, assembled (black) (fits Slash, Stampede,

Rustler, Bandit SEMHES) ....ccccccvverieieiieeie e ree e $15.00
Wheelie bar, assembled (blue) (fits Slash, Stampede, Rustler,

BaANGIt SEIHES) wiovvevieieieieii ettt ettt sae st ese e eneens $15.00
Wheelie bar, assembled (green) (fits Stampede, Rustler,

BaNdit SEIHES) .ooueiiiiiiiiie ettt $15.00
Wheels (4)/ Axles (2), for Maxx wheelie bar.............ccccccovvinnine $4.00

For assistance, call 1-888-TRAXXAS, or e-mail Traxxas anytime at support@Traxxas.com

2381X

2382

2388X

5169

4628R

4628X
6828X
1951R

1953

6752

6751
6850X

1951

6757

3752
3652A

3652G

3652X

2754
6753
2753X

3637
2728
2545
2530
2530A
3632
3632A

3632G

3632X

5525R
5347
3646
3744
3639
3736
3636A

3636G
3636X
3631
2640
3640
2537

2532
3741A

Wheels, aluminum (blue-anodized) (2)/ 5x8mm ball

bearings (4)/ axles (2)/ rubber tires (2).......cccocovvviiiiiiiiiiiicis $19.95
Wheels, aluminum (red-anodized) (2)/ 5x8mm ball
bearings (4)/ axles (2)/ rubber tires (2).........c.cccocvviiiiiiiinn. $19.95

Differential Components
Main diff with steel ring gear/ side cover plate/ screws (Bandit,
Stampede, Rustler)
Planet gears (4)/ planet shafts (4)/ sun gears (2)/sun gear
alignment shaft (1) all hardened steel....
Planetary gear differential with steel ring gear (complete) (fits
Bandit, Stampede, Rustler)
Screws, 2.6x8mm countersunk machine (6)...
Silicone

iveline Componen
Differential output yokes, black (2)/ 3x5mm countersunk
SCrEeWS (2)/ SCrEW PIN (2) ..ceeueeeeiiieeiiee ettt
Differential output yokes, hardened steel (w/ U-joints) (2) .
Differential output yokes, heavy duty (2)/ screw pin (2)............
Driveshafts, rear, steel-spline constant-velocity (complete
assembly) (2) (fits 2WD Rustler/Stampede)..........cccceeverieneennen.
Half shaft pro-pack (internal-splined (6)/ external-
splined (6) (plastic shafts only)
Half shaft, external splined (steel-spline constant-

velocity) (1) (fits 2WD Rustler/Stampede)..........ccccooveiiiiiinennne. $8.00
Half shaft, internal splined (steel-spline constant-velocity) (1). $6.00
Half shafts, heavy duty (external splined (2)/ internal

splined (2))/ metal U-JOiNtS (4)....ccccoiiiiiieiieiiene e $8.00
Half shafts, long truck (external-splined (2) & internal-splined (2)/

Metal U-JOINES (4) ..uveeiieiieie et $6.00
Rebuild kit, steel-splined constant-velocity

driveshafts (includes pins, dustboots, lube, and hardware)..... $18.00
Stub axle carriers (2) (requires 5x11x4mm bearings) $3.00
Stub axle carriers, Rustler/Stampede/Bandit (2), 6061-T6

aluminum (blue-anodized)/ 5x11mm ball bearings (4)............... $35.00
Stub axle carriers, Rustler/Stampede/Bandit (2), 6061-T6

aluminum (green-anodized)/ 5x11mm ball bearings (4)............. $35.00
Stub axle carriers, Rustler/Stampede/Bandit (2), 6061-T6

aluminum (red-anodized)/ 5x11mm ball bearings (4).........c....... $35.00

StUb axle PINS (4) ..veeieeeeeee e
Stub axle, rear, steel-splined constant-velocity (1)..
Stub axles, rear (2)
Stub axles, rear, heavy dut

AXIES (FTONT) (2)..veeeeeieieetieete e
Ball bearings (5x8x2.5mm) (2)
Bellcrank bushings (plastic) (5x8x2.5mm) (4).
Bulkhead (front) (black)
Bulkhead (front) (grey)
Caster blocks (1&r) (30-degree)
Caster blocks, 30-degree, blue-anodized 6061-T6

aluminum (left & right)/ suspension screw pin (2)........ccccccevene $24.00
Caster blocks, 30-degree, green-anodized 6061-T6
aluminum (left & right)/ suspension screw pin (2)........cccceevene $24.00

Caster blocks, 30-degree, red-anodized 6061-T6
aluminum (left & right)/ suspension screw pin (2)
Rod ends, heavy duty (Jato/Slayer) (8)..............
Rod ends, Revo (large) with hollow balls (12).....
Screws, 3x15mm flat-head machine (hex drive) (6)..
Servo saver w/ adapters
ShOCK tOWer (fIONT) .....eeiiiiiiiie e

Steering blocks, left & right (2) (requires 5x11x4mm bearings) ......
Steering blocks, Rustler/Stampede/Bandit (2), 6061-T6

aluminum (blue-anodized)/ 5x11mm ball bearings (4)............... $35.00
Steering blocks, Rustler/Stampede/Bandit (2), 6061-T6

aluminum (green-anodized)/ 5x11mm ball bearings (4)............. $35.00
Steering blocks, Rustler/Stampede/Bandit (2), 6061-T6

aluminum (red-anodized)/ 5x11mm ball bearings (4)........c........ $35.00

Suspension arms (front) (2)........cceovververeenienieienns
Suspension pins, 44mm (2) w/ E-clips...
Suspension screw pin set, steel (hex drive) (reqwres part # 2640

for a complete suspension pin set) (Rustler, Stampede, Bandit) .... $4.50
Threaded rods (20/25/44mm 1 ea.)/ (1) 12mm set screw................ $2.50
Tie bar, fIDErglass. ..o $4.00

Turnbuckles, aluminum (blue-anodized), camber links, front,
39mm (2), rear, 49mm (2) (assembled w/rod ends & hollow
balls)/ wrench

REV. 140417 1630



Page 2 Rustler VXL: TQi Traxxas Link Enabled 2.4GHz Radio (Model 37076) Parts List

3139A

3741X

3139X

3644

3745

1926
1726
1834
3934
1589
1633
2745
3647
1747
1985
5525
5347
2742X
3347
3215
2577
4859
2578
2552
2579
2586
3646
2583
2580
2591
2582
2592
2575
3932
2576
3931
3937
2542
2546
2743
5529

3642X
2754
2746
3685

3062

3061

1726
3342
3340
2072
3354R
3351R

3725

3352

3347
3931
2074
2075
3080
3070
3060
3350R

Turnbuckles, aluminum (blue-anodized), toe links,

59mm (2) (assembled w/ rod ends & hollow balls) (fits

Rustler) (requires 5mm aluminum wrench #5477) .........c..c.c...... $12.00
Turnbuckles, aluminum (red-anodized), camber links, front,

39mm (2), rear, 49mm (2) (assembled w/ rod ends & hollow
DallS)MWIENCH .. $22.00
Turnbuckles, aluminum (red-anodized), toe links,

59mm (2) (assembled with rod ends & hollow balls) (requires

5mm aluminum Wrench #5477) ....coooeiiiiiiieeeeee e $12.00
Turnbuckles, camber link, 39mm (69mm center to

center) (assembled with rod ends and hollow balls) (1 left, 1 right)  $7.00
Turnbuckles, toe link, 59mm (78mm center to

center) (2) (assembled with rod ends and hollow balls).................. $8.75

Hardware

Antenna caps, vinyl (2)/ antenna spool $2.00
Antenna, tube (1)/ vinyl antenna cap (1)/ wire retainer (1)... $1.00
Body clips (12) (standard size)... $2.00
Body clips, heavy duty (12) $3.00
Double-sided adhesive tape (25mm x 25mm) (2) $1.00
E-clips/ C-rings $2.00
Nuts, 3mm nylon locking (12).. $2.00
Nuts, 4mm flanged nylon locking (steel, serrated) (8) $3.25
Nuts, 4mm nylon locking (10) $2.00

PTFE-coated washers, 5x8x0.5mm (20) (use with ball bearlngs) $2.00

Rod ends (12)/ hollow balls (12) $9.00
Rod ends, Revo (large) with hollow balls (12) .. $9.00
Rod ends, short (6)/ hollow balls (6) $4.00
Screws, 2.5x5mm button-head machine (hex drive) (6) $2.50
Screws, 2.5x6mm cap-head machine (hex drive) (6) $2.00
Screws, 3x10mm button-head machine (hex drive) (6) . $2.50
Screws, 3x10mm flat-head machine (hex drive) (4) $1.75
Screws, 3x12mm button-head machine (hex drive) (6) $2.50
Screws, 3x12mm countersunk machine (6) (hex drive) $2.50
Screws, 3x15mm button-head machine (hex drive) (6) $2.50
Screws, 3x15mm cap-head machine (hex drive) (6)... $2.50
Screws, 3x15mm flat-head machine (hex drive) (6).... $2.50
Screws, 3x18mm button-head machine (hex drive) (6) . $2.50
Screws, 3x20mm button-head machine (hex drive) (6) $2.50
Screws, 3x23mm button-head machine (hex drive) (6) $2.50
Screws, 3x30mm button-head machine (hex drive) (6) .... $2.50
Screws, 3x40mm button-head machine (hex drive) (6) .... $3.00
Screws, 3x6mm button-head machine (hex drive) (6) ... $2.50
Screws, 3x6mm flat-head machine (hex drive) (6) $2.50
Screws, 3x8mm button-head machine (hex drive) (6) $2.50

Screws, 3x8mm flat-head machine (hex drive) (6) ........ . $2.50

Screws, 4x12mm button-head machine (hex drive) (6) . $2.50
Screws, 4x12mm countersunk machine (hex drive) (6).... $2.50
Screws, 4x15mm countersunk machine (hex drive) (6) ... $2.50
Set (grub) screws, 3mm hardened (12) ...........cceevrviiivinireiieennenns $3.00
Shim set, 3x7x1mm (2), 3x6x0.5mm (4), 3x7x2mm (2)/ hollow

balls, CaPIUrEd (4) ....vvovieiiiieeee e $3.50
Shoulder screws, Ultra Shocks (3x12 hex drive) (6) $3.00
Stub axle pins (4) $1.00

$1.50
$2.50

Washers, 3x6mm metal (12)
White plastic washers (5x8x1.0mm) (6)

Motors & Electronics

Adapter, Traxxas connector female to Molex male (1) (Note:

Molex connector not suitable for high current use) .................. $5.50
Adapter, Traxxas connector male to Molex female (1) (Note
Molex connector not suitable for high current use) ... $5.00
Antenna, tube (1)/ vinyl antenna cap (1)/ wire retainer (1) . $1.00
Bullet connectors, male, 3.5mm (3) / heat shrink........... . $5.50

Cooling fan, Velineon VXL-3s ESC ............ . $25.00
Gear set (for 2070, 2075 servos) . $4.00
Motor cover, endbell (Velineon 3500)..........ccccorueiriieeniieeenieeeieens $3.00
Motor, Velineon 3500, brushless (assembled with 12-gauge wire

and gold-plated bullet CONNECLOrS) ........cccveviiivieiiiieiriie e $120.00
Mounting plate, speed control (VXL-3s) (Bandit, Rustler,

SEAMPEAR) ...ttt $3.00
Rebuild kit, Velineon 3500 (includes 5x11x4mm ball bearings (2),
2.5x5mm BCS (with threadlock) (4), front and rear bushings) . $13.00

Screws, 2.5x5mm button-head machine (hex drive) (6) .................
Screws, 3x8mm flat-head machine (hex drive) (6)
Servo case/gaskets (for 2056 and 2075 waterproof servos)
Servo, digital high-torque (ball bearing), waterproof
Traxxas Connector (female) (2)...
Traxxas Connector (male) (2) .
Traxxas Connector (male/female) (1) ....ccccoevvveenieriiiieniieenieee
Velineon VXL-3s Brushless Power System, waterproof (includes
VXL-3s waterproof ESC , Velineon 3500 motor, and speed
control mounting plate (part #3725))

...$330.00

3355R VXL-3s Electronic Speed Control, waterproof (brushless)
(fwd/rev/brake) .
Wire, 12-gauge, silicone (Maxx Cable) (650mm or 26 inches ... $6.00

Radio System, Batteries & Chargers
2854 10000mAh 7.4v 2-Cell 25C LiPO Battery...
2846 3300mah 11.1v 3-Cell 25C LiPO Battery
2840 3300mah 7.4v 2-Cell 25C LiPO Battery
2849 4000mah 11.1v 3-Cell 25C LiPO Battery
2841 4000mah 7.4v 2-Cell 25C LiPO Battery
2843 5800mAh 7.4v 2-Cell 25C LiPO Battery
2857 6400mAh 11.1v 3-Cell 25C LiPO Battery
2947 Balance board- XH .......coooiiiiiiiiiiieiiiie e
6548 Battery door, TQ 2.4 transmitter (replacement for #6516, 6517,

6528, 6529, 6530 tranSMILLEr) .........eeeiiiiieiiieeeriie et $4.00
2914 Battery, Power Cell AA AIKaliNg (4).....ccooveiieiieiiiieieieee $3.99
2922 Battery, Power Cell, 3000mAh (NiMH, 6-C flat, 7.2V) .. .. $34.99
2926 Battery, Power Cell, 3000mAh (NiMH, 7-C hump, 8.4V).. $39.99

2942 Battery, Series 3 Power Cell, 3300mAh (NiMH, 6-C flat, 7. 2V) $39.99
2941 Battery, Series 3 Power Cell, 3300mAh (NiMH, 7-C hump,

BLAV) i $45.99
2952 Battery, Series 4 Power Cell, 4200mAh (NiMH, 6-C flat, 7.2V)... $59.99
2951 Battery, Series 4 Power Cell, 4200mAh (NiMH, 7-C hump,

BLAV) it n $69.99
2961 Battery, Series 5 Power Cell, 5000mAh (NiMH, 7-C hump,

BLAV) i n $74.99
2963 Battery, Series 5 Power Cell, 5000mAh (NiMH, 8-C hump,

9.6V) $84.99
2946 Charge lead. .. $6.50
2935 Charger, 2-3 cell LiPO Balance..... ... $29.99

2927 Charger, A/C, 350 mA (7 cell, NiMH)
2931 Charger, EZ-Peak AC/DC, 4 amp
2937X Charger, EZ-Peak AC/DC, 5amp, NiMH ..
2933 Charger, EZ-Peak Plus, 6amp, LiPo, NiMH fast charger .
2932 Charger, EZ-Peak, 2-amp, 6V-9.6V,5-8 cell NiMH fast charger $32.99
2929 Charging Bag, 30 watt hours rated ...........ccceeviiiiiiiiiniicciiees $29.99
6541 Connector, power tap (with cable) (long)/ wire tie ..
2072 Gear set (for 2070, 2075 servos)
6535 Mount, temperature sensor (electric motors)/ wire tie/

therMal Pad ......ooiiiiiie e $3.00
6518 Receiver, micro, TQi 2.4GHz with telemetry (5-channel)................. $50.00
6520 Sensor, RPM (long)/ 3x4mm BCS (2)/ 3x4 GS (1) ....
6521 Sensor, temperature and voltage (long)

2074  Servo casel/gaskets (for 2056 and 2075 waterproof servos)........... $6.00
2075 Servo, digital high-torque (ball bearing), waterproof ..............ccco..... $46.00
6538 Telemetry trigger magnet holders, spur gear/ magnet,

5x2mm (1)/ 3x8mm CCS (3)/ 3Xx10Mm CCS (3)..ccvveeriveeaieeerenenns $3.00
6540 Telemetry trigger magnet, 5X2mm (1).... .
2928 Temperature sensor, EZ-Peak Plus
6509X TQi 2.4 GHz High Output radio system, 2-channel Traxxas Link

enabled (2-ch transmitter, 5-ch micro receiver) ..........cccccoeeeeriineen. $135.00
6507X TQi 2.4 GHz High Output radio system, 4-channel with

Traxxas Link Wireless Module (4-ch transmitter, 5-ch micro

FECEIVET) 1ttt ettt ettt ettt ettt $200.00
6528 Transmitter, TQi Traxxas Link enabled, 2.4GHz high output,

2-channel (transmitter ONIY) ..........ccveiieiieiienieeeeee e $100.00
6529 Transmitter, TQi Traxxas Link enabled, 2.4GHz high output,

3-channel (transmitter ONly) .......cccooieiiiiieiieieeeee e $105.00

6530 Transmitter, TQi Traxxas Link enabled, 2.4GHz high output,
4-channel (transmitter only)
6511 Traxxas Link Wireless Module
3355R VXL-3s Electronic Speed Control, waterproof (brushless)
(fwd/rev/brake)
6537 Wire retainers, gear cover/ 3x4mm BCS (2)

Ready-To-Race Model

37076 Rustler VXL: 1/10 Scale Stadium Truck with TQi Traxxas Link
Enabled 2.4GHz Radio System Call

$115.00
$45.00

Rear Suspension

3638  SNOCK LOWEK (TN ....eviviiiiieiieiieiieie et ste ettt $4.50
3752  Stub axle carriers (2) (requires 5x11x4mm bearings) .........cccceeene $3.00
3652A Stub axle carriers, Rustler/Stampede/Bandit (2), 6061-T6

aluminum (blue-anodized)/ 5x11mm ball bearings (4)............... $35.00
3652G Stub axle carriers, Rustler/Stampede/Bandit (2), 6061-T6

aluminum (green-anodized)/ 5x11mm ball bearings (4)............. $35.00
3652X Stub axle carriers, Rustler/Stampede/Bandit (2), 6061-T6

aluminum (red-anodized)/ 5x11mm ball bearings (4).......c..c...... $35.00
2753X Stub axles, rear (2) . $5.00
3655X Suspension arms, left & right $10.00
3640 Suspension screw pin set, steel (hex drive) (requires part # 2640

for a complete suspension pin set) (Rustler, Stampede, Bandit) .... $4.50

REV. 140417 1630



Page 3 Rustler VXL: TQi Traxxas Link Enabled 2.4GHz Radio (Model 37076) Parts List

3741A Turnbuckles, aluminum (blue-anodized), camber links, front,
39mm (2), rear, 49mm (2) (assembled w/rod ends & hollow

DalIS) WIENCH .t $22.00
3741X Turnbuckles, aluminum (red-anodized), camber links, front,

39mm (2), rear, 49mm (2) (assembled w/ rod ends & hollow

DallS)MWIENCH ..o $22.00
3643 Turnbuckles, camber link, 49mm (82mm center to

center) (assembled with rod ends and hollow balls) (1 left, 1 right) ~ $7.50
1965 Piston head set, (2 sets of 3 types)/ shock collars (2)/ spring

FELAINETS (2) 1veevierieieieeiesie ettt ettt ste e ere e aneeneeneaneas $2.50
1942 Rod ends (16 long & 4 short)/ hollow ball connectors (18)/ ball

screws (2) 7.00

2742X Rod ends, short (6)/ hollow balls (6)

2760 Shock caps, aluminum (2) .....coccoieiiiiiiiie e
1664T Shock shafts, hardened steel, titanium nitride
CoAted (10NG) (2) riveerierieieieie ettt $10.00

2765T Shock shafts, hardened steel, titanium nitride coated (X-
long) (2)

1664 Shock shafts, steel, chrome finish (long) (2)
2765 Shock shafts, steel, chrome finish (X-long) (2)......ccccocvvivvrnennnn.
4760 Shocks, long (hard-anodized & PTFE-coated T6 aluminum)

W/O SPrings (Front) (2) cveveverereieceee e $25.00
4761 Shocks, X-long (hard-anodized & PTFE-coated T6 aluminum)

w/o springs (rear) (2) .
1666  Silicone shock oil (30 wt $2.00

Shocks (Pro-level Alumlnum)

2664 Big Bore shock cylinder (long) (1)
2666 Big Bore shock cylinder (XX-long) (1)
5862 Big Bore shocks (hard-anodized & PTFE-coated T6

aluminum) (assembled with TiN shafts and springs) (front &

(T2 10 I ) ST PTT $70.00
2660 Big Bore shocks (long) (hard-anodized & PTFE-coated T6

aluminum) (assembled with TiN shafts) w/o

SPriNGS (FrONL) (2) eeoveeieeiieiie e $30.00
2662 Big Bore shocks (XX-long) (hard-anodized & PTFE-coated T6

aluminum) (assembled with TiN shafts) w/o springs (rear) (2) $30.00
2669 Piston head set (2-hole (2)/ 3-hole (2))/ shock mounting

bushings & washers (2) (Big Bore Shocks) ........ccccccvvviiiviiinenins $2.50
2362 Rebuild kit, Ultra shocks (for 2 ShoCks .......cccceeiiiiiiiiiiiienen, $2.50
1942 Rod ends (16 long & 4 short)/ hollow ball connectors (18)/ ball

screws (2)

2742X Rod ends, short (6)/ hollow balls (6)
2667 Shock caps, aluminum (2)/ (Big Bore Shocks) ......c.cccceveveeanen. $7.00
1664T Shock shafts, hardened steel, titanium nitride

(o =10t I (oY g e ) 22 USSP PTRT $10.00

2656T Shock shafts, hardened steel, titanium nitride coated (xx-
long) (2)

1664 Shock shafts, steel, chrome finish (long) (2)...
2656  Shock shafts, steel, chrome finish (xx-long) (2).. $3.00
1765 Silicone diaphragms (4) $2.00
1666  Silicone shock oil (30 wt) .. $2.00
2668 Spring retainers, upper & lower (2)/ spring pre- Ioad spacers:

Imm (4)/ 1.5mm (2)/ 2mm (2)/ 4mm (2)/ 8mm (2) (Big Bore

SNOCKS) .ttt $5.50
5860 Springs, front (white) (progressive rate) (2) (fits #5862

aluminum Big Bore ShOCKS) .......cccoviiiiiiiic s $8.00
5859 Springs, rear (white) (progressive rate) (2) (fits #5862

aluminum Big Bore shocks $8.00

Shocks (Ultra Shocks)

3642 Attachment screws, shock (3x12mm shoulder screws) (6)....

3765A Body, Ultra Shock(s) (Iong) (grey) (2).....ccccceerevercvernens .
3766A Body, Ultra Shock(s) (XXL) (grey) (2) $3.00
2362 Rebuild kit, Ultra shocks (for 2 shocks $2.50

1942 Rod ends (16 long & 4 short)/ hollow ball connectors (18)/ ball

SCIEWS (2) veeuteeieetee st e ittt ettt ettt ettt ettt b et
2742X Rod ends, short (6)/ hollow balls (6)
3767 Shock caps (2)/ shock bottoms (2)
3767A Shock caps, aluminum (blue-anodized) (4) (fits all Ultra

SROCKS) ..t $14.00
3767G Shock caps, aluminum (green-anodized) (4) (fits all Ultra

SROCKS) ..t $14.00
3767X Shock caps, aluminum (red-anodized) (4) (fits all Ultra

SHOCKS) .. $14.00
1664T Shock shafts, hardened steel, titanium nitride

coated (long) (2)
2656T Shock shafts, hardened steel, titanium nitride coated (xx-

long) (2)
1664 Shock shafts, steel, chrome finish (1ong) (2) ....ccovvvvveviieiiienns
2656  Shock shafts, steel, chrome finish (xx-long) (2)
1765 Silicone diaphragms (4)

1666
3769
3768

2458
2458A
3757
3757T
3757A
3757R
3757X
4957
3760

3762

3760A

3762A

3793
55652X

2554
5556

Silicone Shock Oil (30 WL .......eeeiiieiiiiieiiie e
Spring pre-load spacers: 1Imm (4)/ 2mm (2)/ 4mm (2)/ 8mm (2).....
Spring retainers, upper & lower (2)/ piston head set (2-hole (2)/ 3-
hole (2))
Springs, front (black) (2).
Springs, front (white) (2)

Springs, rear (black) (2)
Springs, rear (blue) (2)....
Springs, rear (green) (2)
Springs, rear (red) (2.9 rate) (2)
Springs, rear (white) (2)
Springs, red (for Ultra Shocks only) (2.5 rate) (fir) (2)
Ultra Shocks (black) (long) (complete w/ spring pre-load

spacers & springs) (front) (2) ....oooeeveeiieiieeieeeeeee e $18.00
Ultra Shocks (black) (xx-long) (complete w/ spring pre-load

spacers & SPrings) (Fear) (2)....ueeuueeerreeeneeeiieee e e seee e $18.00
Ultra Shocks (grey) (long) (complete w/ spring pre-load spacers &

SPIINGS) (2) 1nveverieeteeeeeieete et eee et e st te e steere e e e s e e e saesennesaesre e $18.00

Ultra Shocks (grey) (Xx-| Iong) (complete w/ spring pre-load

Input shaft (slipper shaft) / SPring Pin........ccccovvveeieiiinieeieeieeneens
Rebuild kit, slipper clutch (steel disc/ friction pads (3)/ spring (2)/

pin/ 4.0mm NL (1)/ 5.0mMM NL (1)) cveoveriererieeeieieeieeeierieneesiesiens $10.00
Screws, 3x6mm cap-head machine (hex drive) (6)............ccccueveeene $2.50
Slipper pressure plate & hub (aluminum alloy) ... $8.00

2416
1918
2419
2423
2426
2431
4725
4728
4676

4683

4686

4690

2728
2545
5347
3744
3743
3743A

3743X
6845X
2537

3139A

3139X

3745

5525R
5347
3739
3744
2640
3640

2537
3737A

3738A

Spur Gears & Pinion Gears
Gear, 16-T pinion (48-pitch) / set screw
Gear, 18-T pinion (48-pitch) / set screw
Gear, 19-T pinion (48-pitch) / set screw ...
Gear, 23-T pinion (48-pitch) / set screw
Gear, 26-T pinion (48-pitch)/set screw
Gear, 31-T pinion (48-pitch) / set screw ...

Gear, pinion (25-tooth) (48-pitch) / set screw

Gear, pinion (28-tooth) (48-pitch)/ set SCrew .........cccoovvveiieennne $3.00
Spur gear, 76-tooth (48-pitch) (for models with Torque-

Control slipper CIULCN) ....coiiiiiiicieeeee e $3.00
Spur gear, 83-tooth (48-pitch) (for models with Torque-Control

SHPPET CIULCN) ..o $3.00

Spur gear, 86-tooth (48-pitch) (for models with Torque-
Control slipper clutch)....
Spur gear, 90-tooth (48-pitch) (for models with Torque-
Control slipper clutch

Steering Components
Ball bearings (5x8x2.5mm) (2)
Bellcrank bushings (plastic) (5x8x2.5mm) (4).
Rod ends, Revo (large) with hollow balls (12)
Servo saver w/ adapters
Steering bellcranks (I&r)/ draglink
Steering bellcranks, drag link (blue-anodized T6 aluminum)/

5x8mm ball bearings (4) hardware (assembled) ...........cccoceevenene $34.00
Steering bellcranks, drag link (red-anodized T6 aluminum)/

5x8mm ball bearings (4) hardware (assembled) ...........cccccennene $34.00
Steering bellcranks/ servo saver/ servo saver spring/ servo

spring retainer/servo horn, StEering ........cccocevvvvreeieenieeieeneenins $12.00
Threaded rods (20/25/44mm 1 ea.)/ (1) 12mm set screw............... $2.50
Turnbuckles, aluminum (blue-anodized), toe links,

59mm (2) (assembled w/ rod ends & hollow balls) (requires

5mm aluminum Wrench #5477).......ccooiiiiiiiiiiic $12.00
Turnbuckles, aluminum (red-anodized), toe links,

59mm (2) (assembled with rod ends & hollow balls) (requires

5mm aluminum Wrench #5477).......cooiiiiiiiiiieeeeee e $12.00

Turnbuckles, toe link, 59mm (78mm center to
2) (assembled with rod ends and hollow balls)....

Suspension Linkage
Rod ends (12)/ hollow balls (12)
Rod ends, heavy duty (Jato/Slayer) (8)
Rod ends, Revo (large) with hollow balls (12)
Screw pin set (Rustler/ Bandit/ Stampede) ..
Servo saver w/ adapters
Suspension pins, 44mm (2) w/ E-clips...
Suspension screw pin set, steel (hex drive) (reqU|res part # 2640

for a complete suspension pin set) (Rustler, Stampede, Bandit) .. $4.50
Threaded rods (20/25/44mm 1 ea.)/ (1) 12mm set screw................ $2.50
Turnbuckle, aluminum (blue-anodized), camber link, front,

39mm (1)(assembled w/rod ends)/hollow balls (2)(See part

3741A for complete camber [Nk Set) .......ccovviiiiieiiieniiieeieee 6.00
Turnbuckle, aluminum (blue-anodized), camber link, rear,

49mm (1) (assembled w/ rod ends & hollow balls) (See part

3741A for complete camber link St) .......ccccoeviiiiiiiieieie $6.00

REV. 140417 1630



Page 4 Rustler VXL: TQi Traxxas Link Enabled 2.4GHz Radio (Model 37076) Parts List

3737 Turnbuckle, aluminum (red-anodized), camber link, front,
39mm (1) (assembled w/rod ends)/hollow balls (2)(See part Transmission Components

3741X for complete camber link Set) .........cocoovvveeevereeiesernnns $6.00 4607 Ball bearings (5x11x4mm) (8)

3738 Turnbuckle, aluminum (red-anodized), camber link, rear, 3792 Dust cover/rubber plug (w/ screws) (telemetry ready)
49mm (1) (assembled with rod ends & hollow balls)(See part 5478  Flat wrench, 8mm (blue-anodized aluminum)
3741X for complete camber link Set) .......cccocvvviiiiiiiiiicis $6.00 3691 Gearbox halves (I&r) (black) w/ idler gear shaft

3741A Turnbuckles, aluminum (blue-anodized), camber links, front, 3691A Gearbox halves (I&r) (grey) w/ idler gear shaft
39mm (2), rear, 49mm (2) (assembled w/rod ends & hollow 5148 Grease, white lithium

ballS)/ WIENCh ... $22.00 3696 Idler gear, steel (30-tooth) ....
3139A Turnbuckles, aluminum (blue-anodized), toe links, 3793  Input shaft (slipper shaft) / spring pin
59mm (2) (assembled w/ rod ends & hollow balls) (requires 2381X Main diff with steel ring gear/ side cover plate/ screws (Bandit,
5mm aluminum Wrench #5477) ..., $12.00 Stampede, RUSHEN) .........ccoiiiieinieieeeicecensee e $6.00
3741X Turnbuckles, aluminum (red-anodized), camber links, front, 1552 Motor screws (3x8mm hex cap) (6)/washers (6)/ wrench .......... $3.00
39mm (2), rear, 49mm (2) (assembled w/ rod ends & hollow 2382 Planet gears (4)/ planet shafts (4)/ sun gears (2)/sun gear
balls)iwrench .. - alignment shaft (1) all hardened Steel............cooreeurrnerenisereceene $6.00
3139X Turnbuckles, aluminum (red-anodized), toe links, ) 2388X Planetary gear differential with steel ring gear (complete) (fits
59mm (2) (assembled with rod ends & hollow balls) (requires Bandit, Stampede, Rustler)
Smm aluminum Wrench #5477) ..o $12.00  5550% Rebuild ki, slipper clutch (steel disc/ friction pad
3644  Turnbuckles, camber link, 39mm (69mm center to pin/ 4.0mm NL (1)/ 5.0mm NL (1))
o S5 T o k) (1 L10M) 7.0 504 St o e o (v
center) (assémbled with rbd ends and hollow balls) (1 left, 1 right)  $7.50 3981 ' Screws, 3x8mm flat-head machine (hex drive) (6)

3745 Tumbuckles, toe link, 59mm (78mm center o 3185X ﬂzrjr\:\;)s,(g)mem washerhead machine (large head for motor

center) (2) (assembled with rod ends and hollow balls).................. $8.75

1647  Silicone grease
Team Traxxas ltems 5556  Slipper pressure plate & hub (aluminum alloy)

2514 Decal sheet, racing SPONSOIS.....ccccovvvieveueieriiiereieee s 3195 Top drive gear, steel (22-tooth
9950 Official Team Traxxas racing decal set (flag logo/ 6-color). Turnbuckles & Threaded Rods
Traxxas racing banner, red & black (3x7 feet . Rod ends (12)/ hollow balls (12)
Tires & Wheels 5525R Rod ends, heavy duty (Jato/Slayer) (8)

5116 Ball bearings, blue rubber sealed (5x11x4mm) (2) 5347 Rod ends, Revo (large) with hollow balls (12)

5114 Ball bearings, blue rubber sealed (5x8x2.5MM) (2) .......ccccorvervenens $4.00 2537 Threaded rods (20/25/44mm 1 ea.)/ (1) 12mm set screw
5854 Hub retainer, 17mm hubs, M4 X 0.7 (4) (use with #5853, 3737A Turnbuckle, aluminum (blue-anodized), camber link, front,
#6856X, #6469) 39mm (1)(assembled w/rod ends)/hollow balls (2)(See part
3647 Nuts, 4mm flanged nylon locking (steel, serrated) (8) 3741A for complete camber linK Set) ......cccovvveeeeiiieieeeene $6.00

1985 PTFE-coated washers, 5x8x0.5mm (20) (use with ball bearings)... $2.00 3738A Turnbuckle, aluminum (blue-anodized), camber link, rear,
1647  Silicone grease . 49mm (1) (assembled w/ rod ends & hollow balls) (See part

2754 Stub axle pins (4) 3741A for complete camber link set) ..o, $6.00

" . i 3737 Turnbuckle, aluminum (red-anodized), camber link, front,
3770A Tires & wheels, assembled, glued (2.8") (All-Star black chrome 39mm (1) (assembled wirod ends)hollow balls (2)(See part

wheels, Alias tires, foam inserts) (rear) (2) ........cccoovevvveiierneiieinenns $31.00 -
. 3741X for complete camber link set)........cccviiiiieiniiiiee $6.00
3770 Tires & wheels, assembled, glued (2.8") (All-Star chrome . . :
o - : 3738 Turnbuckle, aluminum (red-anodized), camber link, rear,
wheels, Alias tires, foam inserts) (electric rear) (2) ................. $30.00 49mm (1) (assembled W(ith rod ends g)( hollow balls)(See part
3771A Tires & wheels, assembled, glued (2.8")(All-Star black chrome 3741X for complete camber link set) $6.00
vv_heels, Ribbed tires, foam inserts) (electrlc fron) (2).cvsvvesvvsvo $31.00 3741A Turnbuckles, aluminum (blue-anodized), camber links, front,
3771 Tires & wheels, assembled, glued (2.8")(All-Star chrome 39mm (2), rear, 49mm (2) (assembled w/rod ends & hollow
wheels, Ribbed tires, foam inserts) (electric front) (2) .............. $30.00 balls)/wrénch ' $22.00
3773A Tires & wheels, assembled, glued (All Star black chrome wheels, 3139A Turnbuckles alummum(blueanodlzed)toelmks """""""""" '
Anaconda tires, foam inserts) (electric rear) (1 left, 1 right) ............ $33.00 59mm (2) (as’semmed w/ rod ends & hollow balls) ’(requires
3773  Tires & wheels, assembled, glued (All Star chrome wheels, 5mMm aluminum WIench #5477).......ovvveeeieeeseerereeseeses e, $12.00
Anaconda tires, foam inserts) (electric rear) (1 left, 1 right)...... $32.00 3741X Turnbuckles, aluminum (red-anodized), camber links, front
3776A Tires & wheels, assembled, glued (All-Star black chrome 39mm (2) rear. 49mm (2) (assembled w/ rod ends & hollow
wheels, Anaconda tires, foam inserts) (nitro rear/ electric balls)/wrénch .............................................................................. $22.00
fr‘ont) (L1Eft, L HIGNT) e $33.00 3139X Turnbuckles, aluminum (red-anodized), toe links,
5576R Tires & wheels, assembled, glued (All-Star chrome wheels, 59mm (2) (assembled with rod ends & hollow balls) (requires
Anaconda tires, foam inserts) (nitro rear/ electric front) (1 5MM AUMINUM WEENC #5477)..vvcoeeveeoeeeseeeeeeseseesessesereseseeee $12.00
left, 1right) . 3644  Turnbuckles, camber link, 39mm (69mm center to

5569 T!res, Alias 2.8" (rear) (2)/ foam |nserts (O - center) (assembled with rod ends and hollow balls) (1 left, 1 right)  $7.00
5578  Tires, Anaconda 2.8" (2)/ foam inSerts (2) .........ccuiirnniissninens : 3643  Turnbuckles, camber link, 49mm (82mm center to

3670 Tires, nitro and electric Stampede terra (2) center) (assembled with rod ends and hollow balls) (1 left, 1 right) ~ $7.50
4791  Tires, Pro-Trax mini-spiked 2.2" (rear) (2) .. - 3745  Turnbuckles, toe link, 59mm (78mm center to

4780 Tires, Pro-Trax ribbed 2.2" (front) (2)......cccccovvvivivciciiiiicinns . center) (2) (assembled with rod ends and hollow balls).................. $8.75
4790 Tires, Pro-Trax spiked 2.2" (rear) (2).....c.cccocvroerrvernieenieeneeneeneens

4790R Tires, Pro-Trax spiked 2.2" (soft-compound)(rear) (2)/ foam

TINSEITS (2) 1evieueeieeieeeert ettt $17.50
5563 Tires, Ribbed 2.8" (front) (2)/ foam iNSerts (2) ........cccoovervvrvernennnn. $20.00
3654 Wheel hubs, hex (front) (tall offset) (2)/ axle pins (2.5x12mm) (2).. $3.00
1654 Wheel hubs, hex (rear) (2)/ stub axle pins (2).........ccccccvvircieennnn. $2.00 If you have questions or need technical assistance, call Traxxas at:
5853X Wheel hubs, splined, 17mm, short (2), long (2)/wheel nuts,
splined, 17mmp(4) (que—anodized)/(hEJb retgai(nz-:*r 1 -BBB-TRAXXA s
M4x0.7 (4)/axle pin (4)/wrench, 5Bmm .......cccccociiiiienniieniieeeienn $40.00 (1-888-872-9927) (U.S. residents only)
5353 Wheel nuts, splined, 17mm (blue-anodized) (4)... .. $10.00 ) : )
5480X Wheel wrench, splined, 17mm .........ccccccveuninnanee . $3.00 For °'ﬂf'§;’x°§,"§7"2”f§,§%‘f§3$ 1“;,?;,‘1Z{.‘”T,";,'(‘fgs"Zf{’;[]‘,?,f{,“,’t"@%“,g)&f;§§?n'3°°°’
3772A Wheels, All-Star 2.8" (black chrome) (electric rear) .. $9.00 TRAXXAS.cCcOM
5576A Wheels, All-Star 2.8" (black chrome) (nitro rear/ electric front) (2).. $9.00
3772 Wheels, All-Star 2.8" (chrome) (electric rear).......c.cccooevvvernennnn. $8.00
5576 Wheels, All-Star 2.8" (chrome) (nitro rear/ electric front) (2)..... $8.00

3673 Wheels, chrome (2.2") (front) (2)
3672 Wheels, chrome (2.2") (rear) (2) .
3675 Wheels, dyeable nylon 2.2 (front) (2) ......cccocoveiieiiiiieiiceceee $4.00

3674 Wheels, dyeable nylon 2.2 (rear) (2)......ccccoeervviiiiieiiieciiiienenn $4.00
3774 Wheels, Twin-Spoke 2.8" (chrome) (electric rear) (2) ................ $8.00
5572  Wheels, Twin-Spoke 2.8" (chrome) (nitro rear/ electric

FEONE) (2) 1o $8.00

REV. 140417 1630



